Ratio to DO

dcygjet / drn3jet [pb/GeV]

=
o
S

=
o
w

=
o
N

10

1071

1072

[EEY

0.5

1960 GeV ppbar Jets
[T T | T I T I I T I T | T I T I I T — ﬂ
- -
= 3-jet mass (DO p__ > 40 GeV, ly| < 1.6) oE
= ’ ==
— <t
— —
— dni
o e
Sl ="
= b 945
- . >
| -
- @
— = Nep
S 3
— m DO ] 8‘
— —A— Pythia 6.428 370 1%
= ...A-- Pythia 6.428 373 = ;
—  --0-- Pythia 6.428 374 373
o Pythia 6.428 375 —<
- Pythia 6.428 381 — c
= v Pythia 6.428 382 =5
%]
N 1o
o
— —] O
— | ! ! L | ! ! ! = =
:I | T T T T | T T T |:
— —2
1
o —0.5
1 " | " 1 1 " 1 1 " | " 1 " 1 1 " |
500 1000 1500



	Contents
	Page 1


